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3. Trains carry bauxite ore from a mine in Canada to an aluminum processing plant in northern New York state in
hopper cars. Filling equipment is used to load ore into the hopper cars. When functioning properly, the actual
weights of ore loaded into each car by the filling equipment at the mine are approximately normally distributed
with a mean of 70 tons and a standard deviation of 0.9 ton. If the mean is greater than 70 tons, the loading
mechanism is overfilling.

(a) If the filling equipment is functioning properly, what is the probability that the weight of the ore in 2 P"’?"“
randomly selected car will be 70.7 tons or more? Show your work.
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(b) Suppose that the weight of ore in a randomly selected car is 70.7 tons. Would that fact make you suspect that
the loading mechanism is overfilling the cars? Justify your answer. = 7o <(idlepce to Sixgaec’
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‘(c) If the filling equlpment is functxonmg properly, what is the probability that a random sample of 10 cats will
have a mean ore weight of 70.7 tons or more? Show your work.

(d) Based on your answer in part (c), if a random sample of 10 cars had a mean ore weight of 70.7 tons, would
you suspect that the loading mechanism was overfilling the cars? Justify your answer.

GO ON TO THE NEXT PAGE.
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(a) If the filling equipment is functioning properly, what is the probability that the weight of the ore in a
randomly selected car will be 70.7 tons or more? Show your work.
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(b) Suppose that the weight of ore in a randomly selected car is 70.7 tons. Would that fact make you suspect that
the loading mechanism is overfilling the cars? Justify your answer.

- - Aormprisms = . e
ho® b ——',OD va\\:dow\\% selected V Stwe fa p-value '3 277, we dm
s 107 noveaally disTviasted V hove Stvtwg evidemce b vejecy -
~-10 . \ . -
Tz 1"'1“;" = 'Zi X 1§ p-vamel . 11 AU by potiesis, teve for. He Fact will wol

MaKe po SUSPEC that 4o ‘Dga\‘-\g medhaniSng 1S
(c) If the filling equipment is functioning properly, what is the probability that a random sample of 10 cars will owrﬂi\\iv%

have a mean ore weight of 70.7 tons or more? Show your work. fhe cova
2:_'-2—‘2-.—-")—‘ X 2.4b e ?m\o’-\\o"\\h% that a vandom Somple of (O
(% . Lavs Wi\ jpve & YWhEaw Ové we{s\,* o
| —.qa3] = .006% T0 7 ¥0ns OV move (s abouT 0064 .

(d) Based on your answer in part (c), if a random sample of 10 cars had a mean ore weight of 70.7 tons, would
you suspect that the loading mechanism was overfilling the cars? Justify your answer.
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(b) Suppose that the weight of ore in a randomly selected car is 70.7 tons. Would that fact make you suspect that
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(c) If the ﬁllmg cqulpmcnt is’ functlomng propef?‘ whit 15 the probability that a random sample of 10 cars will

have a mean ore weight of 70.7 tons or more? Show your work.
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(d) Based on your answer in part (c), if a random sample of 10 cars had a mean ore weight of 70.7 tons, would
you suspect that the loading mechanism was overfilling the cars? Justify your answer.
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